
BC-07

December - Examination 2018

B. Com. Pt. II Examination

Corporate Accounting

Paper - BC-07
Time : 3 Hours ]	 [ Max. Marks :- 100

Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is meant by convention of conservatism?

		  é{‹T>dm{XVm gå~ÝYr naånam go ³¶m Ame¶ h¡?
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	 (ii)	 Business has an independent entity? Explain.

		  ì¶dgm¶ H$m EH$ ñdVÝÌ ApñVËd h¡? g‘PmB¶o&

	 (iii)	 Explain the matching concept.

		  {‘bmZ H$s AdYmaUm H$mo g‘PmB¶o&

	 (iv)	 Explain the meaning of “stock” pertaing to issue of shares.

		  A§e {ZJ©‘Z Ho$ g§X^© ‘| ""ñQ>mH$'' H$m AW© g‘PmB¶o&

	 (v)	 What is meaning of Redemption of Preference shares?

		  A{Y‘mZ A§em| Ho$ emoYZ go ³¶m Ame¶ h¡?

	 (vi)	 What is the main difference between Shares and 

Debentures?

		  A§e Am¡a F$U nÌ ‘| à‘wI AÝVa ³¶m h¡

	 (vii)	Where the profit prior to incorporation is mainly used?

		  g‘m‘obZ go nyd© Ho$ bm^m| H$m à¶moJ à‘wIV… {H$Z-{H$Z H$m¶m] ‘| 
{H$¶m OmVm h¡?

	 (viii)	Which loans are included in short-term loans?

		  AënH$mbrZ F$Um| ‘| {H$Z F$Um| H$mo gpå‘{bV {H$¶m OmVm h¡?

	 (ix)	 To which account the amount of unclaimed dividend is 

transferred after the expiry of 7 years?

		  Z MwH$m¶m AWdm Z ‘m§Jm J¶m bm^m§e H$s am{e H$mo 7 df© níMmV 
{H$g ImVo ‘| ñWmZmÝV[aV {H$¶m OmVm h¡?

	 (x)	 What are the bases of valuation of Goodwill?

		  »¶m{V ‘yë¶m§H$Z Ho$ H$m¡Z-H$m¡Z go AmYma h¢?
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 What is meant by concept? Explain.

	 AdYmaUm go ³¶m Ame¶ h¡? g‘PmB¶o&

3)	 Differentiate between “surrender of shares” and “forfeiture of 

shares”.

	 ""A§em| Ho$ g‘n©U'' Ed§ ""A§em| Ho$ haU'' ‘| AÝVa g‘PmB¶o&

4)	 What is Reserve Capital? How it is different from Capital 

Reserve?

	 g§{MV n§yOr ³¶m h¡? ¶h ny§Or g§M¶ go {H$g àH$ma {^ÝZ h¡?

5)	 What do you understand by redeemable preference shares? 

State the provisions of the redemption of such shares.

	 emoYZr¶ A{Y‘mZ A§e go Amn ³¶m g‘PVo h¢? Eogo A§em| Ho$ emoYZ 
gå~ÝYr àmdYmZm| H$mo ~VmB¶o&

6)	 What do you mean by redemption of debentures by open 

market purchase? Discuss with example.

	 F$UnÌm| H$m Iwbo ~mOma ‘| H«$¶ Ûmam emoYZ go Amn ³¶m g‘PVo h¢? 
CXmhaUg{hV g‘PmB¶o&
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7)	 Explain  (i) Firm Underwriting, and (ii) Sub-underwriting

	 (i) ’$‘© A{^JmonZ Ed§ (ii) Cn-A{^JmonZ H$mo g‘PmB¶o&

8)	 What is meant by Normal Rate of Return? How it is determined 

and how it is used for the purpose of share valuation?

	 "gm‘mÝ¶ àË¶m¶ Xa' go ³¶m Ame¶ h¡? Bg Xa H$m {ZYm©aU H¡$go hmoVm h¡ 
VWm BgH$m Cn¶moJ Aem| Ho$ ‘yë¶m§H$Z hoVw {H$g àH$ma {H$¶m OmVm h¡?

9)	 What is “Preferential Creditors”? Explain and give list of such 

creditors.

	 ""nydm©{YH$ma boZXma'' ³¶m h¡? Bg àH$ma Ho$ boZXmam| H$s gyMr g{hV 
g‘PmB¶o&

	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 What do you understand by the terms, “Principal and Postulate 

of Accounting”? Explain the difference between the two.

	 boIm§H$Z Ho$ {gÕmÝV d AdYmaUmAm| go Amn ³¶m g‘PVo h¢? BZ XmoZm| 
‘| AÝVa ~VmB¶o&
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11)	 What is the concept of employees stock option scheme? Give 

its advantages and accounting treatment also.

	 H$‘©Mmar ñQ>mH$ {dH$ën go ³¶m Ame¶ h¡? BgHo$ bm^ VWm boIm§H$Z 
ì¶dhma ^r ~VmB¶o&

12)	 How the profits of a company are determined for the purpose 

of calculating managerial remuneration? Illustrate your answer 

by giving a suitable example.

	 à~ÝYH$s¶ nm[al{‘H$ H$s JUZm H$aZo hoVw H$ånZr Ho$ bm^m| H$m {ZYm©aU 
{H$g àH$ma {H$¶m OmVm h¡? EH$ Cn¶w³V CXmhaU Ûmam AnZo CÎma H$mo 
ñnîQ> H$s{OE&

13)	 The following is the balance sheet of A Limited.

	 E {b{‘Q>oS> H$m {ZåZ {b{IV {MÇ>m h¡&

Balance Sheet of A Limited as on 31-3-2018
` `

Subscribed Goodwill 50,000
Capital: 2000 Other fixed Assets 
10% preference at cost 1,80,000
share of Rs. 10 Stock-in Trade 50,000
each fully paid 2,00,000 Book Debts 60,000
2000 Equity share Profit and Loss A/c 90,000
of ` 100 each fully 2,00,000
paid
Creditors 30,000

4,30,000 4,30,000

	 The following resolutions were passed and the scheme was 
duly approved by the court:

	 (i)	� Equity shares of ` 100 each be reduced to fully paid-up 
equity shares of ` 50 each.

	 (ii)	� 10% Preference shares of ` 10 each be reduced to 12% 
preference shares of ` 6 each fully paid.
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	 (iii)	 �Goodwill and debit balance of Profit and Loss A/c be 

written off completely.

	 (iv)	� The balance of the amount be used to write off the other 

fixed assets.

	 Give Journal entries and revised Balance sheet of company. 

And also prepare capital reduction account.

	 {ZåZ{b{IV àñVmd nmg {H$¶o J¶o Am¡a ¶moOZm Ho$ {bE Ý¶m¶mb¶ go 
AZw‘{V àmßV hmo JB©&

	 (i)	� 100 é. dmbo Bp³dQ>r A§em| H$mo KQ>mH$a 50 é. dmbo nyU© àXÎm 
Bp³dQ>r A§e ~Zm {X¶o Omd|&

	 (ii)	� 10 é. dmbo 10% nydm©{YH$ma A§em| H$mo KQ>mH$a 6 é. dmbo nyU© àXÎm 
12% nydm©{YH$ma A§e ~Zm {X¶o Om¶|&

	 (iii)	� »¶m{V H$mo VWm bm^-hm{Z ImVo Ho$ S>o{~Q> eof H$mo nyU© ê$n go 
An{b{IV H$a {X¶m Omdo&

	 (iv)	� eof am{e H$m Cn¶moJ AÝ¶ ñWm¶r gån{Îm¶m| H$mo An{b{IV H$aZo ‘| 
{H$¶m Omd|&

	 OZ©b à{dpîQ>¶m± VWm H$ånZr H$m n[ad{V©V {MÇ>m Xr{OE& ny§Or H$Q>m¡Vr 
ImVm ^r V¡¶ma H$s{OE&


